
Wie lautet die fehlende Zahl (bis 5 000)?

Aufgabe 1

1. 1 149 +     =  1 638

2. 2 400 +     =  3 535

3. 739 +     =  930

4. 1 642 +     =  2 299

5. 2 051 +     =  2 210

6. 1 161 +     =  1 665

7. 1 574 +     =  2 509

8. 2 091 +     =  3 328

9. 2 491 +     =  3 973

10. 1 909 +     =  3 139

Aufgabe 2

1. 1 459 +     =  1 910

2. 2 095 +     =  2 714

3. 2 320 +     =  3 240

4. 1 632 +     =  1 892

5. 2 327 +     =  3 116

6. 1 872 +     =  2 946

7. 2 209 +     =  2 414

8. 1 972 +     =  2 673

9. 872 +     =  978

10. 986 +     =  1 502

Aufgabe 3

1. 2 428 +     =  4 580

2. 975 +     =  1 776

3. 1 457 +     =  2 263

4. 1 658 +     =  2 997

5. 1 971 +     =  2 989

6. 1 174 +     =  2 347

7. 1 793 +     =  3 416

8. 1 107 +     =  1 987

9. 2 408 +     =  2 769

10. 1 742 +     =  2 026

Aufgabe 4

1. 1 654 +     =  2 675

2. 1 808 +     =  3 206

3. 1 461 +     =  2 278

4. 2 307 +     =  4 353

5. 1 965 +     =  2 301

6. 1 578 +     =  2 038

7. 1 003 +     =  1 867

8. 2 236 +     =  4 087

9. 2 077 +     =  4 092

10. 1 398 +     =  2 126
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Wie lautet die fehlende Zahl (bis 5 000)?
| ANTWORTEN

Aufgabe 1

1. 1 149 +  489  =  1 638

2. 2 400 +  1 135  =  3 535

3. 739 +  191  =  930

4. 1 642 +  657  =  2 299

5. 2 051 +  159  =  2 210

6. 1 161 +  504  =  1 665

7. 1 574 +  935  =  2 509

8. 2 091 +  1 237  =  3 328

9. 2 491 +  1 482  =  3 973

10. 1 909 +  1 230  =  3 139

Aufgabe 2

1. 1 459 +  451  =  1 910

2. 2 095 +  619  =  2 714

3. 2 320 +  920  =  3 240

4. 1 632 +  260  =  1 892

5. 2 327 +  789  =  3 116

6. 1 872 +  1 074  =  2 946

7. 2 209 +  205  =  2 414

8. 1 972 +  701  =  2 673

9. 872 +  106  =  978

10. 986 +  516  =  1 502

Aufgabe 3

1. 2 428 +  2 152  =  4 580

2. 975 +  801  =  1 776

3. 1 457 +  806  =  2 263

4. 1 658 +  1 339  =  2 997

5. 1 971 +  1 018  =  2 989

6. 1 174 +  1 173  =  2 347

7. 1 793 +  1 623  =  3 416

8. 1 107 +  880  =  1 987

9. 2 408 +  361  =  2 769

10. 1 742 +  284  =  2 026

Aufgabe 4

1. 1 654 +  1 021  =  2 675

2. 1 808 +  1 398  =  3 206

3. 1 461 +  817  =  2 278

4. 2 307 +  2 046  =  4 353

5. 1 965 +  336  =  2 301

6. 1 578 +  460  =  2 038

7. 1 003 +  864  =  1 867

8. 2 236 +  1 851  =  4 087

9. 2 077 +  2 015  =  4 092

10. 1 398 +  728  =  2 126
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